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optlph 7-nn. hnndwény pjntobuinwhl Swiuubph gnpéwrtwywl nwuwlwngiwb 04 fudph 01

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybywé N 1
Unyniuwy N 04-01

wyn pYnLd pun dpwgntinh

Qnpdwnhn hzfuwlnepiua,
wEwnwywb ywrwywpiwb
hwlpwwbunwywb L
nwpwépwht ywrwywpdwb
dwnahbbeph ywhwwOnid

QOnwikOp
tGpwiudph wjn pYntd puwn
Znnywsh woywbniip gniwnp z YuwinwinnnGtinh
(hwqun &
npwabkpny) el = 2

0 Soc &

o 33z

= E&c

E sid

5 il

1 2 3

puAUUGLL DUuUGN 436 379,3 436 379,3 436 379,3
wyn pynLd
LUuBUSHhY SUUGN 418 379,3 418 379,3 418 379,3
wjn pyntd
MGSULYUL UuNruUhuvutNh, NPULS GuUUU 307 483,9 307 483,9 307 483,9
A3NtRGSU3PL <hULUNYLENP UCluuSNILENh
uchuusudunr
wjn pynLd
- pwnuwpwghwwb dwewinnbtph wywpglwwnpdwb $nin 21 064,6 21 064,6 21 064,6
LUuLBUShY SPULUDENSLEN 54 673,3 54 673,3 54 673,3
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 54 673,3 54 673,3 54 673,3
wjn pyntd
- ywnpuwnhp unghwjwywb wwwhnjwgpnipgwb y&wnpbkn 54 673,3 54 673,3 54 673,3
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 56 222,1 56 222,1 56 222,1
Jsuruuu oukuutenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 4189,3 4189,3 4189,3
wjn pynd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 4189,3 4189,3 4189,3
wjn pyntd
- gpwubbjwywiht wwpwbpbtn L Gnuebn 4189,3 4189,3 4189,3
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 17 783,5 17 783,5 17 783,5
Spwluwnpuwihb SwewntpnLtGbEph y&wnbbp 13 200,0 13 200,0 13 200,0

Unyniuwly 04-01 (pOnwdklp 2 £9)



yx4’

1 2 3

Lwuwh Swewjnipntbbtph J&wnbtn 12 115,9 12115,9 12115,9
Undntbw) swrwjnipintbbtph y&wnbtkn 5 864,1 5 864,1 5864,1
wjn pyntd

ElGYwnpwtGEpghwih, Jwebihph L 9Grnigdwl dwiuubn 5390,9 5390,9 5390,9
2nantn- Ynninneg ogindbint Jwndh yAwnowb dwfuubn 339,5 339,5 339,5
W yndntGwy Swiuubin 133,7 133,7 133,7
Uy, Swfuukn 3069,3 3069,3 3069,3
wyn pyntd

Lbpywjwgnigswywb swiuubn 1500,0 1 500,0 1500,0
W) swrwnipintGbbph dbrppbpdwl dwiuubp 1569,3 1569,3 1569,3
LUuMhSUL oduueP 18 000,0 18 000,0 18 000,0
wyjn pyntd

uunhsulL veNPaNPNFULENh SUlbuGN 18 000,0 18 000,0 18 000,0
wyjn pyntd

LUUMhSUL U4ShyuGNh Q6NLAGNUUL CUUGH 18 000,0 18 000,0 18 000,0
wyn pyntd

Spwluwnpuwihb dhongltph dbrpptndwl swiuubp 18 000,0 18 000,0 18 000,0

Unyniuwly 04-01 (pOnwdklp 2 £9)
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybiyws N 1

Unjntuwy N 04-03

Unyntuwly 04-03 (pOnwiblp 24 t9)

wyn pYnLd puwn dpwantiph

Unpwlwb opjaywnbtnph hhdbwbnpngntd

QOnwukOp
Glpwiudph
<nnywéh woywaniip gnLiwpp wyr pYNLA puwn
(hwqup = Yuwnwnnnlbph
npwdGtpny) =

o = S

3 35 32 o o o= s S S o

£ [Oley ol 2 3 < 3 =3 < 3 3 < 3 3

z 3 S Se S c == S c _E g c sc

g c = S g3 3 3 = 3 c 3 c 3 33 3 3

s 3 3 ves 35 c S 35S 25 g5 = 5

=) =S Y 53 oD 35 S 5 35 5B 25 £ 5

3 33 3£ 33 c 3 53 = 3 v 3 5 3 o3

£ 3 53| 52 | 3¢ g | g | vYe| g | v¢&

a =5 =5 | S5 | v3 | Y5 | g3 5| Y5 | Y3

NA 3S v v
1 3 4 5 6 7 8 9 10 11

puLAUUGLE SUluuGP 68 947 103,9 13001 544,1| 150 000,0| 9274 226,0( 492 338,1| 101 000,0| 467 288,0( 358 161,0( 20 000,0| 752 407,01 311650,0
wyn pyntd
puEUShY DUUGN 51469 961,6 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
pLEUSHYU SPULUDENPSLEN 1155 343,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
Uppwpnwylbp 7 866,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| pbpwghy wnpwludtbpunwiht y&wnobp 1147 477,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 1147 477,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuLeLGNh aLUUL G4 ounusnk@3ntuuNrh 50 314 617,9 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
JauNuuu ounuenN
wjn pyntd
UwnwGplbph dGrpptpnid 409 541,4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| Swfuubn 409 541,4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 86 260,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 278,1 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy swluubn 49 818 538,4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
W) swrwnipintGbbph dbrppbndwl wiuubp 49 818 538,4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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Unjntuwly 04-03

(nOnwukOp 24 t9)

1 2 3 4 5 6 7 8 9 10 11
LUMhSUL SUluUGN 17 477 142,3| 13001 544,1] 150 000,0| 9274 226,0 492338,1| 101 000,0| 467 288,0( 358 161,0] 20000,0| 752 407,0 311650,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 4281220,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 2633 168,4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 80 789,1 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 1567 262,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 1567 262,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 13195 922,1 13001 544,1] 150 000,0{ 9274 226,0| 492338,1| 101 000,0| 467 288,0( 358 161,0] 20000,0| 752 407,0 311650,0
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<nnwéh wodwbnidp

wyn pYnLd puwn dpwgnkiph

Unpwlwb opjEyunl

tnh

hhdbwbnpngntd

Unpwlywb opjyunbbph 2hGwpwpnignil

Gpbynwb niunignid

wjn pYntd puwn

wyn pYntd pun

wjn pYntd puwnn

Jwuwwpnnlbph — Ywuwnwnpnnltph — JwuwnwpnnlObph
& & 3
S S S é 5 ? = S é g S
5 2 2 <2 5 & €32 <2 5 3 =2
=5 55 S35 = Ec 53 g3 g 5| 32
== 25 =5 5 NE— =3 35 =5 5 35 5
[Sic] £S5 3B =) g 83 =) 3B =) 33 £ 5
S 3 33 @» 3 3 3c 53 ®» 3 3 c 3 o3
vE=s 5 T v g = Q3 >3 v g = Do v o
= c V= S 335 v & V= S 3 v S
3 J 3 3 a c 35 3 3 3 a z 3
=1 (=] (=] 33 (=] (=] 3 =1
=1} =)
12 13 14 15 16 17 18 19 20 21
puAUUGBLL DUuUGN 273 860,0( 646 314,0| 154 300,0( 1625054,8| 1555054,8( 50000,0{ 20 000,0| 25743,3| 17 306,9| 8436,4
wyn pynLd
LUuBUSHhY SUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0| 25743,3| 17 306,9| 8436,4
wjn pyntd
QuBUShU SPULUDdENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0 0,0| 25743,3| 17 306,9| 8436,4
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0 0,0| 25743,3| 17 306,9| 8436,4
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 0,0 0,0 0,0 0,0 0,0 0,0 0,0| 25743,3| 17 306,9| 8436,4




Lel

Unyntuwly 04-03 (pOnwiblp 24 t9)

12 13 14 15 16 17 18 19 20 21
LUMhSUL SUluUGN 273860,0| 646 314,0| 154 300,0| 1625054,8 1555054,8] 50000,0( 20 000,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0[ 1625054,8] 1555054,8] 50000,0] 20 000,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 1625054,8| 1555054,8] 50000,0] 20000,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 273860,0| 646 314,0] 154 300,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyntuwly 04-03 (pOnwiblp 24 t9)

wyn pyntd puwn dpwignbiph

<wOpwyppwywb dpwaptph hpwywbwgdwah

Lwlpwyppwywb spwantnh

<wOpwyppwywb dpwantph hpwywbwgdwah

odwlnwyntpwb 2nowbwybbpnid «{wlpwwGunnipwb hpwywlwgdwab odwlnwyntpywb 2nowlwybtpnid Yebhnpnbwgywd
nuwnpngltph hGuinbpbtwnwiht gwogh uwwuwnpynid L odwlnwyntpjwb Ywpany wywpuwywb thwuwinwpenptnh,
hwiwywngswht uwppwynpnidbtph wwhwwlnid» 2nowbwybtpned gnwuwbwagntph, nwuwdwwnywbOtph, dEnwibbph,
opwanh hpwywlbwgliwb hwiwn winwywb nwnpngwlwGbtph opwnltGnh, nuntdbwywb 6pwanknh,
wowygnipintlt «4ppwywd inbubninghwbtph wagguiht wdwrwihb hwbguwnhp Jwoywdwpdwywb wwpppwywbosph b
ythuinpnb» MNUYNG Juqiwybpwned nruntibwnhnnnuywb wwpwaqwbnh dGrppGpnid
<nnywéh woywaniip wjn pYnLd puwn wjn pYntd puwn wjn pynLd pun
— Ywuwnwnnnbbph — Jwuwnwnnnbbph — Ywuwnwnnnbbph
& & &
2 - 2 - 2 -
0 Soc & 0 So & © Sc &
g 33¢ g 23¢ g 23¢
2 25 2 £23 2 E
2 553 2 553 2 553
a N 3 Iéi a ¥ 53 % a ¥ 53 %
() = =
22 23 24 25 26 27
puAUUGBLL DUuUGN 258 588,0 258 588,0| 132228,0 132 228,0 409 541,4 409 541,4
wyn pynLd
LUuBUSHhY SUUGN 258 588,0 258 588,0| 132228,0 132 228,0 409 541,4 409 541,4
wjn pyntd
QUBUShY SPULUDENSLEN 258 588,0 258 588,0( 132228,0 132 228,0 0,0 0,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 258 588,0 258 588,0| 132228,0 132 228,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 258 588,0 258 588,0| 132228,0 132 228,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 409 541,4 409 5414
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 409 541,4 409 5414
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 409 541,4 409 541,4
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
W) swrwnipintGbbph dbrppbndwl wiuubp 0,0 0,0 0,0 0,0 0,0 0,0




€el

Unyntuwly 04-03 (pOnwiblp 24 t9)

22 23 24 25 26 27
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0
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GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
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Unyntuwly 04-03 (pOnwiblp 24 t9)

<nnwéh wodwbnidp

wyn pYntd pun Spwagnk

<wlpwynpwyw spwaptiph
hpwywlwgiwll odwlnwyntpjwb
2nowbwybbnpnid nnwnppwywa
nwuwnwOOtph wpwytpunbbnpha
wOy Awp nwuwgnpepny b
nruntdOwywb gpwywbnegudp
wwwhnyntd

Lwlpwynpwywa spwaptiph
hpwywlwgiwbl odwlnwyntpjwb
2nowbwybtpnid hwbpwynppwywh

nwpngltiph ntunighsGtiph
JGpwwwunpwundwl dwywunwyny
wEwnwywl wowygnipintl «4ppnLpjw
wqqwjhb hGuwinhwnnwiny ORLC-h0

Lwlnpwyppwywb niunignty

<wlOpwyppwywb niunigntd
- w)p Wewnwywl dwpuhbbbn

wjn pYntd pun
Jwuwwpnnlbph

wyn pYntd pun

wyn pYntd pun

wjn pYntd puuf

= = Juwnwnpnnbtph - Junwpnn(tph - JwwnwnnnGGnf,
£ g g £
<3 g g <3 =)
3 =5 32 3 5 2 3 5 =2 3 3
[ c . c . c [ =
© Soc & © So & © So & © 3
ol 33z o 33z o 33z = 5
B SEc = SEc = SEc 2 S5
=] s 3 =1 s g3 =1 S g3 =] 33
3 £S5 3 £S5 3 £S5 3 c 3
= 23 c 523 c 523 c D&
a N a N a N a =
v°3 v°3 V"3 5
o1}
28 29 30 31 32 33 34 35
puLIUUGLLE CUUGN 519 383,6 519 383,6 390 910,2 390 910,2| 726 416,2 726 416,2| 46 873 009,1| 10273 093,5
wyn pyntd
LUuBUSHhY SUUGN 519 383,6 519 383,6 390 910,2 390 910,2| 726 416,2 726 416,2| 46 873 009,1| 10273 093,5
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 390 910,2 390 910,2 0,0 0,0 0,0 0,0
wyn pyntd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 390 910,2 390 910,2 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 390 910,2 390 910,2 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 519 383,6 519 383,6 0,0 0,0| 726 416,2 726 416,2| 46 873 009,1| 10273 093,5
Jysunruuu oukuuenN
wjn pyntd
Uwpwbpltph dGrpptnpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 519 383,6 519 383,6 0,0 0,0| 726 416,2 726 416,2| 46 873 009,1| 10273 093,5
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 519 383,6 519 383,6 0,0 0,0] 726 416,2 726 416,2| 46 873 009,1| 10273 093,5
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28 29 30 31 32 33 34 35
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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<nnwéh wodwbnidp

wyn pYnLd puwn dpwanptiph

<wOpwyppwywb nuntgnid - wy wewnwywb dwndhbGbn

wjn pYntd pun

JwuwnwpnnlObph
:% =] =} P ‘& =} =] =} =] =} P =}
52 €2 £2 S g g2 c2 52 =¥ =2
53 33 = 3 c 3 c 3 33 33 < 3 S 3 23
35S c S 35 25 == S 5 =5 oS =5
b 3B 35 3B i} ] c B c 5 £S5 3B
3 3 c 3 53 = 3 v 3 5 3 o3 >3 33 @» 3,
o 35 g 5T v T o' v o V=] 3 T v g
5 < c v s g < c ¥ c V=8 J & N J &
T3 Y 3 < 3 N 3 3 3 3 g 3 3
N he=] =] he=] N, =] b= b= b= =] he=] =]
36 37 38 39 40 41 42 43 44 45
puAUUGBLL DUuUGN 3222493,5| 4228069,9| 4439793,4| 4747 806,6| 47198354 3900093,9| 5019402,9| 2693 855,01 1300461,0( 2328 104,0
wyn pynLd
LUuBUSHhY SUUGN 3222493,5| 4228069,9| 4439793,4| 4747 806,6| 47198354 3900093,9| 5019402,9| 2693 855,01 1300461,0( 2328 104,0
wjn pyntd
QuBUShU SPULUDdENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| pbpwghy tnpwludtipmnwihb JAwnbtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 3222 493,5( 4228 069,9( 4439793,4| 4747 806,6( 4719835,4| 3900093,9| 5019402,9| 2693 855,0| 1300461,01 2328 104,0
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 3222 493,5( 4228 069,9 4439793,4| 4747 806,6( 4719835,4| 3900093,9| 5019402,9| 2693 855,0| 1300461,01 2328 104,0
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 3222493,5| 4228069,9| 4439793,4| 4747 806,6| 47198354 3900093,9| 5019402,9| 2693 855,01 1300461,0( 2328 104,0
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Unyntuwly 04-03 (pOnwiblp 24 t9)

36 37 38 39 40 41 42 43 44 45
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4 Unyntuwly 04-03 (pOnwiblp 24 t9)
optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

wyn pyntd puwn Spwgntiph
Lwlpwyppwywb spwantph
hpwywlwgiw(l odwlnwyntpjwl Lwhpwyppwywb dpwaptph hpwywbwgdwah
2nowlbwybtpnid << hbrwynp, odwlnwyntpywb 2powlbwybtnnLd
Gpwdnwywl uwhdwOwdbkné, |ErOwhG L pwpdn hwOpwyppwywb nwnpnglttph
nwnngbtnpntd ntunignid 1GrOwhG pGwywdwintph wewnwywh Gwlywywndbubpht L nwpngwhwuwy
hwbpwyppwywb nwnngltnp GnpGluwOEphb inpwbuwnpuwihb
Jwlywy wpdwywb Ywnntnpny Swrwnipintbbbph dwuwnnignid
hwdwpnid
<nnywéh woywaniip wjn pYnLd puwn wjn pYnLd puwn wyr pUNLA puwn
— Jwuwnwpnnbbph — Jwuwnwnpnnltph — Ywuwnwnpnnltph
ey ey ey
§ 3 S § = § = = IC] IC]
— ] —
£ | 28 & £ 3:5 B | 2| g2 | g2 <2
= Sccz = 33 ¢ o 3| 23 | S3| 23
5 5c5% 5 = &c 5 g5 =25 o5 =5
=1 R g =1 S e g =1 55 5 S5 35
3 235 3 c S 3 v 3 S>3 33 a3
= S333 I~ 523 I~ v T >3 3 o oy
g v5t2 g v oL g S| Y5 |Y5| Vs
v E g v g 3 3 V.5 =
i)
46 47 48 49 50 51 52 53 54
puAUUGBLL DUuUGN 175 351,8 175 351,8 86 260,0 86 260,0| 31957,5| 278,1| 21218,0| 8584,6( 1876,8
wyn pynLd
LUuBUSHhY SUUGN 175 351,8 175 351,8 86 260,0 86 260,0| 31957,5| 278,1| 21218,0| 8584,6( 1876,8
wjn pyntd
QUBUShY SPULUDENSLEN 7 866,0 7 866,0 0,0 0,0 31679,4 0,0 21218,0| 8584,6| 1876,8
wjn pynd
Unpwpenwybtn 7 866,0 7 866,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 316794 0,0 21218,0| 8584,6| 1876,8
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 316794 0,01 21218,0| 8584,6| 1876,8
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 167 485,8 167 485,8 86 260,0 86 260,0 278,1 278,1 0,0 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uwpwbplbbph d6rppbpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 86 260,0 86 260,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 278,1| 278,1 0,0 0,0 0,0
Uy, Swiuukn 167 485,8 167 485,8 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 167 485,8 167 485,8 0,0 0,0 0,0 0,0 0,0 0,0 0,0




6€l

Unyntuwly 04-03 (pOnwiblp 24 t9)

46 47 48 49 50 51 52 53 54
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4
optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyntuwly 04-03 (pOnwiblp 24 t9)

wjn pYntd puwn dpuwigntin

=2

Lwlpwyppwywb spwantph

<wOpwyppwywb dnwantph hpwywlowgdwah

hpwywlbwgdwGh odwlnwyntpjwb 2powlwybtpnid Awbnpuiynpubwil dpwantinh hnwiywiwigiwi
odwlnwyntpjwb «wynngwywabtph hwipwwbunwywb odwlnwnt il 2ngwlwyutpnid «Ijnngwjuititinh
2nowlwybbpnid uywnpunwyhwnwjih waglwgnid» dpwagph othdujhwnuilinh woglugnid» énuwgnh hpwlwiwglwa
hwiwn weunwywb wowygnipintl «GpLlwbh wtunwywb
nwqiwghwunntjwl hpwywlwgdwb hwiwn wiunwywb wowygnipinta hwd GhG aptn UCwhhGwGh wodwe
YwphGbinGsnh «Upfuwtnwbpuwyht rbgsnd Gy GwnqulwG wiuwnL h0 wep P Lo hOjwh ‘“,n%‘ﬂu .
Ybpwywagbnig hwuwpwywywb Yugiwybpwnipulp $hahlw-dwpGdwinhulwl huwnnty nwpng» -
<nnywéh woywaniip wn pYnLd pun wyn pYnLd puwn wyn pYntd puwn
— Ywuwnwnnnbtph — Jwuwnwnnnltph — Ywuwnwnnnbbph
£ £ g
<3 <3 g
I : s 2 : s 2
S 5 s & S 5 S & © ‘5 S &
= 3¢ g =3¢ g =3 &
5 O 5 O 5 O
= £c3 5 g3 E s
2 523 2 S23 2 S23
S v52 S v 52 & 52
v 3 v 3 v 3
55 56 57 58 59 60
puAUUGBLL DUuUGN 5304,5 5304,5 35000,0 35000,0 27 000,0 27 000,0
wyn pynLd
LUuBUSHhY SUUGN 5304,5 5304,5 35000,0 35000,0 27 000,0 27 000,0
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 35000,0 35000,0 27 000,0 27 000,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 35000,0 35000,0 27 000,0 27 000,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 35000,0 35000,0 27 000,0 27 000,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 5304,5 5304,5 0,0 0,0 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 5304,5 5304,5 0,0 0,0 0,0 0,0
wjn pyntd
W) swrwnipintGbbph dbrppbndwl wiuubp 5304,5 5304,5 0,0 0,0 0,0 0,0




(44"

Unyntuwly 04-03 (pOnwiblp 24 t9)

55 56 57 58 59 60
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0
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«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4 Unyntuwly 04-03 (pOnwiblp 24 t9)
optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

wyn pYntd puwn dpwgnkinh

Lwhpwyppwywb dpwaptph hpwywbwgdwah {wlpwyppwywd dnwankph Lwlpwyppwywb dpwgptph
odwlnuwyntgjwb 2powlwybbpnid «Mwwnwbh hpwywlwgliwlbb odwlnwyntpjwb hpwywbwgdwab
hGunwgnunnh L uinbnéwgnnpénnh hbrwyw 2nowbwyibpnid wenwywb odwlnuwynipjwb 2nowlwyibnnid
nwnng» 6nwagnph hpwywbwgliwb hwdwnp wowlygnipyntl «Uppwywl wewnwywl wewygnipntb
wEwnwywl wowygnipintt «Splwbh «Utuhpwp wnbfubninghwbbnh wagquihb «QOwhwwuniwl L gunwynpiwb
UGpwuwnwgh» Yppwhwdwihp» MNUY-hO ychwnpnb» MNUY-hG ychunpnb» MNUY-h0
<nnywéh woywaniip wjn pYnLd puwn wjn pynLd pun wyr pYNLd puwn
— Ywuwnwnnnbbph — Ywuwnwnnnbtph — Jwuwnwnnnbtph
3 s 2 3 s 2 3 5 3
5 Ss & 5 Ss & 5 Ss &
o 33z o 33 2 o 33 2
2 SEc 2 S&c 2 SEc
E gc2 E g2 E gc2
= 523 = 523 = 523
a ¥ 3 Iéi a ¥ 53 % a ¥ 53 %
() = =
61 62 63 64 65 66
puAUUGBLL DUuUGN 13 457,0 13457,0 37 541,9 37 541,9 131 447,0 131 447,0
wyn pynLd
LUuBUSHhY SUUGN 13 457,0 13457,0 37 541,9 37 541,9 131 447,0 131 447,0
wjn pyntd
QUBUShY SPULUDENSLEN 13457,0 13457,0 37 541,9 37 541,9 131 447,0 1314470
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 13 457,0 13457,0 37 541,9 37 541,9 131 447,0 131 447,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 13 457,0 13 457,0 37 541,9 37 541,9 131447,0 131 447,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
W) swrwnipintGbbph dbrppbndwl wiuubp 0,0 0,0 0,0 0,0 0,0 0,0




el

Unyntuwly 04-03 (pOnwiblp 24 t9)

61 62 63 64 65 66
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyntuwly 04-03 (pOnwiblp 24 t9)

wjn pYnLd puwn dpwantiph

Lwlpwyppwywb dpwapbph hpwywbwgdw(h
odwlnwyntpwb 2powlwybtnnid
«Lwlbpwynppwywb nwpngbEpnLd

Owjuwwwwnpwuwnwywb ntunigned» dnwgnh

hpwywlwgdwl hwiwn wiunwywb
wowygnipntb «Gplwbh «Utuhpwn
Ubtpwuwnwgh» Yppwhwdwihp» MNUY-hO

Lwlpwyppwywb dpwgnpbph hpwywbwgdw(h
odwlnwyntpywb 2powlwybEpnid whnwywb
wowlygnipintl «GpLwbh «Utuhpwp
Ubpwuwnwgh» Yppwhwdwihp» MNUY-h00
wGnwywh wypaunpwbpwihb
Gwlywdwndnipub 6pwantph
hpwywlwgdwb hwdwn

<wlpwyppwywh dpwanptiph
hpwywbwgiwbb odwlnwyntpjwl
2nowbwybtpnid Lepphl uthnieph

nwpngtiph wawytpunGeph

nwuwgnptpny wwwhnyntd

<nnywéh woywaniip wjn pYnLd puwn wyr pUnLd puwn wyr pYNLA puwn
- Yuwwnwnnnlbph = Yuwwnwnnnlbph = Yuwwnwnnnlbph
: s 2 : - : -
© Soc & 0 So & 0 So &
g 23¢ g 23¢ g 33 ¢
= 25 2 25 2 Xk
2 523 2 523 2 523
a ¥ S5 Iéi a ¥ 53 Iéi a ¥ 53 Iéi
() () ()
67 68 69 70 71 72
puAUUGBLL DUuUGN 293225 293225 20 303,7 20 303,7 70 000,0 70 000,0
wyn pynLd
LUuBUSHhY SUUGN 293225 293225 20 303,7 20 303,7 70 000,0 70 000,0
wjn pyntd
QUBUShY SPULUDENSLEN 293225 293225 20 303,7 20 303,7 0,0 0,0
wyn pyntd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 293225 293225 20 303,7 20 303,7 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 293225 293225 20 303,7 20 303,7 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 70 000,0 70 000,0
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuukn 0,0 0,0 0,0 0,0 70 000,0 70 000,0
wjn pyntd
W) swrwnipintGbbph dbrppbndwl wiuubp 0,0 0,0 0,0 0,0 70 000,0 70 000,0
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Unyntuwly 04-03 (pOnwiblp 24 t9)

67 68 69 70 71 72
LUMhSUL SUluUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 04 fuiph 03

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyntuwly 04-03 (pOnwiblp 24 t9)

wyn pYnLd pun dpwgntiph

<wlpwynpwywh dpwantph
hpwywlwgdwbh
odwlnwynipywh
2nowbwybtpned Lepphl
uthinieph’ Swywfuph
nwpngbtinh hwdwn gniyph dtinp

Lwlpwynpwywa spwagnptiph
hpwywlwgiwbl odwhnwyntpjwb
2nowlwybbpnud uthnirpwhw)
ntuntghsGGph
JGpwwwunpwuundwb gény
wGwnwywb ywwnybn

<wiwfuwphwih0 pwGyh

wowlgntpuip

hnwywbwgynn Ypentpw

npwyh L

hwiwwwwnwufuwbntgwb

pbnnus dpwaghn
<nnywéh woywaniip wjn pYnLd puwn wyr pYNLA puwn wjn pynLd pun
- Ywwnwpnnbtiph - Ywwnwpnnbtiph - Yuwwnwpnnltph
2 3 ? 3 = ? 3 = ?
o 33¢ = 33¢ 2 33¢
3 EFE 3 EFE 3 E5E
=] S e g =] S e g =] S e é
2 523 g 523 g 523
a ¥ 53 % a ¥ 53 % a ¥ S5 Iéi
= = ()
73 74 75 76 77 78
puAUUGBLL DUuUGN 30 000,0 30 000,0 12255 1225,5| 1886 031,0 1886 031,0
wyn pynLd
LUuBUSHhY SUUGN 0,0 0,0 12255 12255| 1113018,9 1113018,9
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 12255 12255| 1113018,9 1113018,9
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuukn 0,0 0,0 12255 12255| 1113018,9 1113018,9
wyn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 0,0 0,0 12255 12255| 1113018,9 1113018,9




yA4s

Unyntuwly 04-03 (pOnwiblp 24 t9)

73 74 75 76 77 78
LUMhSUL SUluUGN 30 000,0 30 000,0 0,0 0,0 773012,1 773 012,1
wjn pynLd

LuUMhSUL LGNAPAFULENh DULUGN 30 000,0 30 000,0 0,0 0,0 753984,0 753 984,0
wjn pyntd

LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 30 000,0 30 000,0 0,0 0,0 7539840 753 984,0
wjn pyntd

W, wyinhybbph dGrppbndwh dwiuutn 30 000,0 30 000,0 0,0 0,0  753984,0 753 984,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 19 028,1 19 028,1
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<nnwéh wodwbnidp

wjn pyntd puwn dpwignbiph

Ut6 Pphuinwbhwih L gnuupuwih
hrjwbnhwih Uhwgjw| Bwagwynpnipjub
ynnuhg <wjwuwnwbh <wlpwwbwnnipwip
Shbwbuwywb oglnipiwb Ywngny
npwdwnnywsé Gdhpwpbpnijwb
dhongltiph hwzyhb hpwywbwgynn ££
Qtnwnpentbhph L Swynt2h dwpgtpnid
dwpquih qupgugiwl dpwaghn

£L EYninghwiywi
Unpnipiwl
rwqiwywpwywb
Spwanh (pwdzwyntd

12-wdjw Yppnipub wagliwb Yuwwygnipjwip 6 tnwptywd
GpGluwlGnh nuntgiwb Yuqiwytpwdwb hwiwp wihpwdtwn

gntjph dGrppLnnid

wyn pYntd puwn

wjn pYntd puwn

wyn pYntd pun

= Ywwnwpnnbtiph = | Ywwnwpnnlbph - Ywwnwpnnbtiph
= = =3
g o S g 5 = g 3 % o S s
z 23 3 z =c 2 2 g c 53 <3 =3
© S c ISR © Z e 0 ‘5 S & 3 S e S sc
g c 3 2 3 k= S c g T3 c ] 53 33 = 3
5 25 =S 5 v 35 5 - oo 35 35S S 35S
=) 35 35 =) Y 33 E= S 3 33 oD 35 S B
3 =3 a3 3 5 3 cS S c 3 33 S 3 53
= 5T v g = 3 3 = 23 Do o 3o g
a < 3 3 a 53 ad Q// 3 = v 3 t’, 3 < 3
v = = S S S % VaC] =] =
[« 8
79 80 81 82 83 84 85 86 87 88 89
puAUUGBLL DUuUGN 146 500,0 84 500,0 62 000,0| 5100,0 5100,0( 427 882,8| 42152 98277,7 29020,5( 39871,6| 41847,6
wyn pynLd
LUuBUSHhY SUUGN 30 000,0 30 000,0 0,0| 5100,0 5100,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 30 000,0 30 000,0 0,0| 5100,0 5100,0 0,0 0,0 0,0 0,0 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uwpwbplbbph d6rppbpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 30 000,0 30 000,0 0,0| 5100,0 5100,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 30 000,0 30 000,0 0,0| 5100,0 5100,0 0,0 0,0 0,0 0,0 0,0 0,0




6v1

Unyntuwly 04-03 (pOnwiblp 24 t9)

79 80 81 82 83 84 85 86 87 88 89
LUMhSUL SUluUGN 116 500,0 54 500,0 62 000,0 0,0 0,0 4278828 42152 98277,7] 29020,5| 39871,6] 41847,6
wjn pynLd
LuUMhSUL LGNAPAFULENh DULUGN 48 500,0 42 500,0 6 000,0 0,0 0,0 4278828 42152[ 98277,7| 29020,5| 39871,6] 41847,6
wjn pyntd
LUMhSUL chuuPuQrNFB3UL SUUGN 42 500,0 42 500,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 6 000,0 0,0 6 000,0 0,0 0,0 4278828 42152 98277,7| 29020,5| 39871,6] 41847,6
wyjn pyntd
Uy, wywnhybbph dbrppbndwh Gwiuutn 6 000,0 0,0 6 000,0 0,0 0,0 4278828 42152 98277,7| 29020,5| 39871,6] 41847,6
LuUMhSUL LNNPNGNFULENh DUUGN 68 000,0 12 000,0 56 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyjn pUntd puwn Spwgnkph

Lwiwfuwnphwihb pwbyh Lwjwuwnwbh
12-wiijw YnpnLpiul wigiwh YuwwwlgnLpuwip 6 tnwnblwl ntfuwbtph wowlgnLpjuap <wlpwwbnntpwl
WG SwlbnwGwe huwd Ghnwdt S hpwywlwgynn <wjwuwnnwbh | hwdwjbpwihb pnetlnhG
nuntgdwi uiqdwyinuwdwl hwdwn wihpwdtizun gniph dGrpptinnt unghwwywb OGpnpnuilbbph unipyblghwlbph
hhdbwnpwdh Gppnpn dpwighn npwdwnpnLd
Znnywéh waywbnidp wyn pYntd pun wjn pYntd pun wjn pYntd puwn
Jwuwwpnnlbph — JwuwnwpnnlObph — Jwuwwpnnlbnph
el
3
23 3| <3 S| 3| €3 | 3 2 =% 2 £3
S c _c roTl < c SE cc S c © 2 3 © c <
c 3 c 3 33 —g 3 < 3 S 3 z 3 g [S=y g S 3
25 gs S5 =S == 25 =5 5 33 5 o5
35 =B c B c B c 5 =T} 35 =1 =S =] (ST}
=3 v 3 53 o 3 >3 33 ®» 3 3 33 3 3 3
gl veg|lyve|lve|lge| g vt 5 £3 5 Jg
3 3 v 3 3 3 Y 3 3 a 53 a Y 3
NA=] =] =] (=] =] (=] (=] N k=]
v V4
90 91 92 93 94 95 96 97 98 99 100
puAUUGBLL DUuUGN 38607,0| 44 767,4| 34486,5| 36540,8 25179,0 11931,7( 23 137,8] 1785 000,0 1785 000,0( 40 000,0 40 000,0
wyn pynLd
LUuBUSHhY SUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 281 851,5 281 851,5| 40000,0 40 000,0
wjn pyntd
QuBUShU SPULUDdENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0| 40000,0 40 000,0
wjn pynd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0| 40000,0 40 000,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 40000,0 40 000,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0 0,0 281 851,5 281 851,5 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Anpéninnuibtbp b wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb swewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 281 851,5 281 851,5 0,0 0,0
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuutkn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 281 851,5 281 851,5 0,0 0,0




LS

Unyntuwly 04-03 (pOnwiblp 24 t9)

90 91 92 93 94 95 96 97 98 99 100
LUMhSUL SUluUGN 38 607,0| 44 767,4| 34486,5 36540,8| 25179,0] 11931,7| 23137,8| 1503 148,5 1503 148,5 0,0 0,0
wjn pynLd
LuUMhSUL LGNAPAFULENh DULUGN 38607,0| 44767,4| 34486,5| 36540,8| 25179,0 119317 23 137,8 1395798,6 1395 798,6 0,0 0,0
wjn pyntd
LUMhSUL chuuPuQrNFB3UL SUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 9656136 965 613,6 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 80 789,1 80 789,1 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL OUUGN 38607,0| 44767,4| 34486,5| 36540,8| 251790 119317 23137,8] 3493959 349 395,9 0,0 0,0
wjn pyntd
W, wyinhybbph dGrppbndwh dwiuutn 38607,0| 44767,4| 34486,5| 36540,8| 25179,0] 11931,7| 23137,8] 3493959 349 395,9 0,0 0,0
LuUMhSUL LNNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 1073499 107 349,9 0,0 0,0
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{wybiyws N 1

Unyniuwy N 04-04

Unyniuwly 04-04 (pOnwdklp 2 t9)

wyn pYnLd puwn dpwantiph

Uppwywb opjyunbEph

Lwunnty Yppnipintl

Lwuwnnty Yppnipyntl - wy yewnwywb dwpdhbbbp

2hbwnpwpnieyntl
QOnwikOp
tGpwiudph wjn pYntd puwn wyn pYntd pun wjn pYntd puwn
Znnywih waywaniip gnLawnp z Jwuwnwnnnbtph = Jwuwwnnnbtph = Jwuwnwnnnbtph
(hwqun S 3 & = 55 E =
mnwdtend | 2 =% £ 3.2 E 2 | 53| 3 | &3
Z 3 Ss & 3 Sc == S
o ==y =] =3c =] £ S g3 =3 c 3
B 33 3 SEc 3 35 35 35 a5
=1 =S =] S 3 =] 33 b (=it} 3D
3 33 3 £S5 3 c 3 33 53 =3
o &35 o 523 = Do o g 5 T
3 35 3 vo3 3 s | 35| vs | ¢s
7 3 v 3 5 NG = N
v =1}
1 2 3 4 5 6 7 8 9 10
puAUUGLL DUuUGN 5173 301,5| 40 000,0 40000,0| 1283077,6 1283077,6| 2785194,7| 834817,6| 145697,1| 239789,8| 63 224,1
wyn pynLd
LUuBUSHhY SUUGN 5127 077,9 0,0 0,0] 1283077,6 1283077,6| 2785194,7| 834817,6| 145697,1| 239789,8| 63 224,1
wjn pyntd
QUBUShY SPULUDENSLEN 13 392,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Unpwpenwybtn 13 392,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 5113 685,9 0,0 0,0] 1283077,6 1283077,6| 2785194,7| 834817,6| 145697,1| 239789,8| 63 224,1
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 5113 685,9 0,0 0,0] 1283077,6 1283077,6| 2785194,7| 834817,6| 145697,1| 239789,8| 63 224,1
wjn pyntd
Uy, SwrwjntpyntGbbph d6rppbndwl dwiuukin 5113 685,9 0,0 0,0| 1283077,6 1283077,6| 2785194,7| 834817,6| 145697,1| 239789,8| 63 224,1
LunhsulL cuuer 46 223,6| 40 000,0 40 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
uunhsulL veNPaNPNFULENh SUlbuGN 46 223,6| 40 000,0 40 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
LUuNhSUL chuuruNrnkE3UuL SuuutnN 40 000,0| 40 000,0 40 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUMhSUL U4ShyuGNh 6NLAGNUUL CUUGH 6 223,6 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniiltph dGrpptndwb dwiuubp 1161,6 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uyl wywinhybbph d6rpptindwl dwiuubn 5062,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyn pyntd putn Spwgntiph
Upuwywpg Lwuwnnty nwpngbtph hwdwp
ntGwynipnibobn Owpuwwnbudwé épwgnkph,
Lwunniy Yppnepintl - wy wEnwywb dwpdhGotn npulinpwdé GpGfuwbtnh nwuwagnptph, d6rGwnyatnh,
hwbpwyppnLpjwb ntuntdGwywb wy Ginepbph
Jwgiwytpwned dawynid L hpwwnwpwyned
wjn pYntd puwn wjn pYntd puwn wyn pYntd pun
Znnywih waywaniip Jwuwwpnnlbph = Jwuwwpnnlbph z Ywuwnwnpnnltph
g g
o= S S o= o g 5 ? é S ‘;
. é o g il g S é < é © ‘3 S @ © ‘5 S @
g 3 33 3 3 < 3 g 3 g =3¢ g &3¢
gs S= =S 25 =5 5 =cs D = &@c
55 25 o5 c 5 35 =} se3 =} s g3
v 3 5 3 o 3 > 3 » 3, 3 cSs S 3 cs s
Vel v | v | vg | vE| = 523 5 523
3 ¥ 3 Y 3 ¥ 3 ¥ 3 a v°g a vos
=1 3 3 =1 =1 v 3 v 3
11 12 13 14 15 16 17 18 19
puAUUGLL DUuUGN 316 583,9| 172795,6| 476797,8| 463 188,2| 72 300,6| 975 029,2 975 029,2 90 000,0 90 000,0
wyn pyntd
LUuBUSHhY SUUGN 316 583,9( 172795,6| 476 797,8| 463 188,2| 72 300,6| 968 805,6 968 805,6 90 000,0 90 000,0
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 13392,0 13 392,0 0,0 0,0
wjn pyntd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 13392,0 13 392,0 0,0 0,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 316 583,9( 172795,6| 476 797,8| 463 188,2| 72 300,6| 955413,6 955 413,6 90 000,0 90 000,0
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 316 583,9( 172795,6| 476 797,8| 463 188,2| 72 300,6| 955413,6 955 413,6 90 000,0 90 000,0
wjn pyntd
Uy, SwrwjntpyntGbbph d6rppbndwl dwiuukin 316 583,9| 172795,6| 476797,8| 463 188,2| 72 300,6| 955413,6 955 413,6 90 000,0 90 000,0
LunhsulL cuuer 0,0 0,0 0,0 0,0 0,0 6 223,6 6 223,6 0,0 0,0
wjn pyntd
uunhsulL veNPaNPNFULENh SUlbuGN 0,0 0,0 0,0 0,0 0,0 6 223,6 6 223,6 0,0 0,0
wjn pyntd
LUuNhSUL chuuruNrnkE3UuL SuuutnN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUMhSUL U4ShyuGNh 6NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 6 223,6 6 223,6 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniiltph dGrpptndwb dwiuubp 0,0 0,0 0,0 0,0 0,0 1161,6 1161,6 0,0 0,0
Uyl wywinhybbph d6rpptindwl dwiuubn 0,0 0,0 0,0 0,0 0,0 5062,0 5062,0 0,0 0,0
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{wybywdé N 1
Unyntuwy N 04-05

Unyniuwly 04-05 (pOnwdklp 3 £9)

wyn pYnLd puwn dpwgnkiph
Uwpqwywl opjEyuinlenh Upunwnwpngwywb Upunwnwpnguywb nwunmhwpwynepnt - wy, wewnwywb
2hGwpwpnigntb nwuwinhwpwyntpynta dwnahbbtn
Clnwaklp wjn pYNLl pun wjn pYnLl pun wjn pYnLl pun
Glpwiudph - YwwnwpnnGbph - YwwnwpnnGbph - YwwnwpnnObph
<nnjwéh wojwanidp gnidwnp = = = =
(hwquwn CBT S o g - g s 513 S S
ER= 3 = > 3 43 2| 3 3 3 =C
ouddemny | 5 st | & | S8 | & [sE_E|E.323,| & 32
g SE g =2 E S5 | ZE€E|c€323¢| s3 | €2
] N~ B c = B S5L8 35 -3 3 3
=} S 3 =} = =} So3| 32335 =23 T b
3 3 3 gct 3 35cE|385s<c2] 23 33
= Q3 = 23 = 53331 232255 Do z o
S 335 S o=l S cfta2|3° /522 3 3 <&
d §3 d ¥ 3 d y2 3|5 T5¢ g1 93
35 S s S t// g’ él. NV
1 3 5 7 8 9 10
puLAUUGLL DUuuGN 2015294,5| 237 200,0 237 200,0( 308 049,9 308 049,9| 569 036,3 26 960,8 434 572,2( 27 285,7| 64554
wyn pyntd
LUuBUSHhY SUUGN 1206 264,5 0,0 0,0| 308 049,9 308 049,9| 569 036,3 26 960,8 434 572,2( 27 285,7| 64554
wjn pynLd
QUBUShY SPULUDENSLEN 282 418,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 282 418,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 282 418,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 923 846,0 0,0 0,0| 308 049,9 308 049,9| 569 036,3 26 960,8 434 572,2( 27 285,7| 64554
Jsuruuu oukluutenN
wyn pyntd
Uy, Swfuukn 923 846,0 0,0 0,0| 308 049,9 308 049,9| 569 036,3 26 960,8 434 572,2( 27 285,7| 64554
wjn pyntd
Uy, SwrwjntpyntGbbph d6rppbndwl dwiuukin 923 846,0 0,0 0,0| 308 049,9 308 049,9| 569 036,3 26 960,8 434 572,2( 27 285,7| 64554
LunhsulL cuuer 809 030,0| 237 200,0 237 200,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
yunhsulL veNPANPNFULENHh SUbUGN 237 200,0| 237 200,0 237 200,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
LUuNhSUL chuuruNrnkE3UuL ouuutnN 237 200,0| 237 200,0 237 200,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vnrNantuuNrh cuklbuGN 571 830,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyn pUnLd pun Spwagnk

nh

Upunwnwpngwywlb nwunhwpwynipintb - wy

wEwnwywb dwpihblbbn

MGEnwywl wewygnipntl
«S. MEwnpnuywbth waqwhb
wfudwuwnh wnntlb»

MGunwywb wowygnipyntl
Jwnpquyuw
hwuwpwywyw

Gpwdunwywb L
wpybuwnh nwpngbbpnid
wqgwihb 0jwaqwpwbbsph

MAUY-hG JuaquwytnpwnipntGbephb qény niunigntd
wjn pYntd pun wjn pYntd puwn wjn pYntd puwn wyn pYntd pun
Jwuwwpnnbbph — Jwuwwpnnbtnh — Jwuwwpnnbtph — Ywuwnwnnnltph
c c c
<nnjwéh wojwanidp - § = 5 % = § § S
[oTR =] (=] S (=] (=] 3 3 ] 3 —
S2| g2 | <2 | s2 | E2 | § |&E_523 5§ |2_g=23 5 =z &
g3 33 3 3 < 3 S 3 s E5535E g E5535E g SSEC
g g S 3 g S 5 o S = Se3eB85S 3 Se3en8 S = cefEc
c S c = e L 353535 < o) 35353< L S55835
35 b c B c 5 (=S =1 Sa=c b= =] Sa=c b= =1 3307
=3 3 3 O 3 5 3 3 3 3 3c55<c¢c 3 3c55<c¢c 3 2355
5T g v o v = c 232255 = 2323255 = S5 333
d’% \/5 V% V% \/5 a 3" A&cc a 3" /CEc a v5T2
NAC S = S V.5 = = 5 = = £ £ 3
\ v 3 v 3 c S
Y = Y =} 5
11 12 13 14 15 16 17 18 19 20 21
puLAUUGLL DUuuGN 3713,0| 18116,6( 20966,3| 15630,2| 15336,1| 7247,3 7247,3| 275171,2 275 171,2| 46 759,8 46 759,8
wjn pyntd
LUuBUSHhY SUUGN 3713,0] 18116,6] 20966,3| 15630,2| 15336,1| 7 247,3 72473 275171,2 275171,2| 46 759,8 46 759,8
wyn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0| 7247,3 7247,3| 275171,2 275 171,2 0,0 0,0
wyn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 0,0 0,0 0,0 0,0 0,0| 7247,3 72473 275171,2 275171,2 0,0 0,0
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 0,0 0,0 0,0 0,0 0,0 72473 72473 275171,2 275171,2 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 3713,0( 18116,6] 20966,3| 15630,2| 15336,1 0,0 0,0 0,0 0,0| 46759,8 46 759,8
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 3713,0( 18116,6] 20966,3| 15630,2| 15336,1 0,0 0,0 0,0 0,0| 46759,8 46 759,8
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl dwiuubp 3713,0| 18116,6| 20966,3| 15630,2| 15336,1 0,0 0,0 0,0 0,0| 46759,8 46 759,8
LunhsulL cuuer 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsulL veNPANPNFULENHh SUbUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
LUuNhSUL chuuruNrnkE3UuL ouuutnN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vnrNantuuNrh cuklbuGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyn pYntd puwn dpwgntinh

Uwnpquyuw optyuinltph
hhdGwlnpnagrd

wjn pYntd puwn

— Jwuwnwnnnbtph
<nnjwéh wojwanidp =
o IC]
3 32
5 =5
g 5¢
el
E V52
= Q3
S 335
a 5 3
m\:
22 23
puLAUUGLL DUuuGN 571 830,0 571 830,0
wjn pyntd
LUuBUSHhY SUUGN 0,0 0,0
wjn pynLd
QUBUShY SPULUDENSLEN 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 0,0 0,0
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 0,0 0,0
Jsuruuu oukluutenN
wjn pyntd
Uj| Swfuubn 0,0 0,0
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl dwiuubp 0,0 0,0
LunhsulL cuuer 571 830,0 571 830,0
wjn pyntd
yunhsulL veNPANPNFULENHh SUbUGN 0,0 0,0
wjn pynd
LUuNhSUL chuuruNrnkE3UuL ouuutnN 0,0 0,0
yunhsuL vnrNantuuNrh cuklbuGN 571 830,0 571 830,0

Unyniuwly 04-05 (pOnwdklp 3 £9)



1S1

«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4

optlph 7-nn. hnnywény pntotuinwhl swfuubph gnpéwrOwywl nwuwywngiwb 04 fuiph 06

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybiyws N 1

Unjntuwy N 04-06

Unyniuwly 04-06 (pOnwiklp 2 t9)

wyn pYnLd puwn dpwantiph

Luwfulwyw
Gwulwghunwywb Vwpulwywl dwubwghunwywl (wphGuwnwagnnpdwywb) Yppnipintd - wy wtwnwywo
(wnphBuwnwgnpswyw) Gwpuhblbp
Unpntpintb
LOnwakha
bﬁr?uljjhmpﬁ wjn pYntd puwn wyn pYntd pun
Znnywsh woywbniip gniwnp z YuwinwinnnGtiph z Yunwipnntinh
(hwqun & - & 2 5 e -
nnwaatnny) 2 =z 2 ol 2 53 =35 &3 g 3
© R © g e 3 Se == S o= cc
g T3 c g B E £S5 53 =3 c 3 33 g 3
e} 285 5 v§5§ 35 35S 35S 25 S= 5
E= se3 E= g 33 33 o5 2B 3D 25 £ 5
3 gcc 3 s & 2 3 33 53 23 53 o3
o 23 = 3 Do o o3 5T g v o
a v 52 a 2 2 S5 |1 ¥ys| 25| Y5 | v5
v 3 S 3 g Y, Vs !
S cS 3 VA =] A= =1 3
& =)
1 2 3 4 5 6 7 8 9 10 11
puAUUGLL DUuUGN 1467 698,2| 1005 066,2 1005 066,2| 462 632,01 29589,7| 168 709,5| 55507,6| 30997,3| 30152,2| 65 155,6( 42 898,6
wyn pynLd
LUuBUSHhY SUUGN 1467 698,2| 1005 066,2 1005 066,2| 462 632,01 29589,7| 168 709,5| 55507,6| 30997,3| 30152,2| 65 155,6( 42 898,6
wjn pyntd
QUBUShY SPULUDENSLEN 32274721 2219724 221972,4 100774,8] 7533,01 34930,8[ 11829,6] 4966,2| 6193,8| 15791,4 10602,0
wjn pyntd
Unpwpenwybtn 322 747,2 221972,4 221972,4 100774,8] 7533,01 349308 11829,6] 4966,2| 6193,8| 157914 10602,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 1144 951,0 783 093,8 783 093,8| 361857,2( 22056,7| 133778,7| 43678,0| 26 031,1| 23 958,4| 49 364,2| 32296,6
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 1144 951,0 783 093,8 783 093,8| 361857,2( 22056,7| 133778,7| 43678,0| 26 031,1| 23 958,4| 49 364,2| 32296,6
wjn pyntd
Uy, SwrwjntpyntGbbph d6rppbndwl dwiuukin 1144 951,0 783 093,8 783 093,8| 361857,2( 22056,7| 133778,7| 43678,0| 26 031,1| 23 958,4| 49 364,2| 32296,6




861

«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4

optlph 7-nn. hnnywény pntotuinwhl swfuubph gnpéwrOwywl nwuwywngiwb 04 fuiph 06

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

wjn pYnLd pun Spwgntipf

Luwfulwyw
Jwubwghunwyw
(wnphBuwnwgnpswyw)
Unenipintl - wy
wEGwnwywb dwpdhbObn

wyn pYntd puwn

<nnwiéh waywlntip YuinwinnnGtiph
3

< c

» 3

N

V3

he= )
12

puAUUGLL DUuUGN 39621,5
wyn pynLd
LUuBUSHhY SUUGN 39621,5
wjn pyntd
QUBUShY SPULUDENSLEN 8928,0
wjn pyntd
Uppwpnwylbp 8928,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 30693,5
Jsuruuu oukluutenN
wjn pyntd
)| Swfuubn 30 693,5
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl dwiuubp 30 693,5

Unyniuwly 04-06 (pOnwiklp 2 t9)
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{wybywé N 1
Unyniuwy N 04-07

Unyniuwly 04-07 (pOnwdklp 2 £9)

wjn pyntd

puwn dpwigntiph

Uppwywb opjyunbEph

Uhohl dwubwghunwywl

UhohO dwubwghunwywb Yppnipintl - wy wEunwywb

hhdGwOnpngntd UppnLpntb dwnahbbbn
QOnwikOp
tGpwiudph wjn pYntd puwn wjn pYntd puwnn wjn pYntd puwn
Znnywih waywaniip gnLawnp z Jwuwnwnnnbtph = Jwuwunwnnnbtph = Jwuwnwnnnbtph
(huwauin S = S & - =
3o S S 3o o s o
nnwdttpny) | 2 2 2 3 Z 2 32 =z | 32 |22
S o S 3¢ S S = g & Sz |5 &
g £ g =3¢ e Ez 3| €2 | SE<¢
S c ] S ®c ] 3 < c c [ =
3 ¥ 33 3 g2 3 3 ¥y33 | ¥33 83 | 333
3 c 3 £s S 3 3 c c c c o 353c5¢
g 53 5 523 5 =3 32| 82 (5222
53 =
d S35 d ¥ 3 d €3 E5| Y5 |yv2 5
c S S S c S VS c S
S5 3 =3 5
1 2 4 5 6 7 8 9 10
puAUUGLL DUuUGN 2 274 506,2| 60 000,0 60 000,0| 975 984,8 975984,8| 1238521,4| 218536,9| 247 776,4| 28551,9| 161658,3
wyn pynLd
LUuBUSHhY SUUGN 2214 506,2 0,0 0,0] 975984,8 975984,8| 1238521,4| 218536,9( 247 776,4| 28551,9| 161658,3
wjn pyntd
QUBUShY SPULUDENSLEN 272 916,0 0,0 0,0| 158 346,0 158 346,0 114 570,0| 46 170,0| 25878,0/ 3591,0 9861,0
wjn pyntd
Unpwpenwybtn 272 916,0 0,0 0,0| 158 346,0 158 346,0 114 570,0| 46 170,01 25878,0/ 3591,0 9861,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 1941 590,2 0,0 0,0| 817638,8 817 638,8| 1123951,4| 172366,9( 221898,4| 24 960,9| 1517973
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 1941 590,2 0,0 0,0| 817638,8 817 638,8| 1123951,4| 172366,9( 221898,4| 24 960,9| 1517973
wjn pyntd
Uy, SwrwjntpyntGbbph d6rppbndwl dwiuukin 1941 590,2 0,0 0,0| 817 638,8 817 638,8| 1123951,4| 172366,9 221898,4| 24960,9| 1517973
LunhsulL cuuer 60 000,0| 60 000,0 60 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsuL vnrNnantuuNrh cukbuGN 60 000,0| 60 000,0 60 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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h pUNLd putn Spwanlinh

wyj
Uhght
Jwubwaghunwyw
UneniRInLh - wy
wGwnwywl
dwnohabtn
wjn pYntd puwn
<nnwiéh waywlntip YuwinwinnnGtiph
S S
3 _s3
2c3S 3 15
E553S c
353552
3§2E2%
g 32 =S=
3 SEE
v 3
11
puAUUGLL DUuUGN 581997,9
wyn pynLd
LUuBUSHhY SUUGN 581997,9
wjn pyntd
QUBUShY SPULUDENSLEN 29 070,0
wjn pyntd
Uppwpnwylbp 29 070,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 552 927,9
Jsuruuu oukluutenN
wjn pyntd
)| Swfuubn 552 927,9
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl dwiuubp 552 927,9

LuUMhSUL SUluuGP
wjn pyntd

0,0

yumhsSulL nrNantuLGNrh SuuGN

0,0

Unyniuwly 04-07 (pOnwdklp 2 £9)
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{wybiyws N 1

Unyniuwly 04-08 (pOnwiklp 3 £9)

Unjntuwy N 04-08

wyn pYnLd pun dpwgnkinh

Pwnépwagntyt niuntibwywo

hwuwnwunnipiNLtbb6ph «26)pnLl nuwbnnuiyw Pwnépwantl L
panncOBnLpywb Mn%wlgzmuopjbumﬁdbnh wywb» hhdbwnpwih hGunpnthwyw
pOlnLgINLGGEPH haGwanpngnt unLpuhnwynpnid Jwulbwghnwywb Ypenignel
Jwgiwytnpwned

QOnwikOp
Ghpwiuiph wyn pYnLd puwn wyn pYnLd puwn wyn pYnLd puwn wyn pYnLd puwn
<nnwsh wodwlnidp gnidwpp — Ywuwnwnnnbbph — Jwuwnwnnnbbph — Ywuwnwnpnnltph — Jwuwwpnnlbnph
(wqun | E N - d E
nnhwabbnny) 3 PR 3 3 3 s 2 3 s 2

c S c c 25 c S c c S c

0 33 o 0 3 S 0 3= [ 0 33 ©

=] 33z o S5&c =l =3c = =3 c

B cEc B 3=c 3 cEc 2 ez c

=1 S E 3 =1 a E-E =1 S g3 =1 S g3

2 €55 2 S8 E 2 €55 2 €55

S o535 S 532 S o535 S o535

S VvV S S
v
1 3 5 7 9
puLAUUGLE SUluuGP 5626 450,1 10 000,0 10 000,0| 50 000,0 50 000,0| 19 548,8 19 548,8| 2690 695,5 2690 695,5
wyn pyntd
pLEUSHhY DUUGN 5576 450,1 10 000,0 10 000,0 0,0 0,0 19548,8 19 548,8| 2690 695,5 2 690 695,5
wjn pyntd
untrUbNhULEN 19 548,8 0,0 0,0 0,0 0,0 19548,8 19 548,8 0,0 0,0
wyn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 19 548,8 0,0 0,0 0,0 0,0 19548,8 19 548,8 0,0 0,0
unLpuhnhwbn
puEUShU SPULUDENSLEN 1471916,9 0,0 0,0 0,0 0,0 0,0 0,0 684 387,0 684 387,0
wyn pyntd
Unpwpenwybtn 1343708,7 0,0 0,0 0,0 0,0 0,0 0,0 659 667,0 659 667,0
Uj| pbpwghy wnpwludtbpunwiht y&wnobp 128 208,2 0,0 0,0 0,0 0,0 0,0 0,0 24720,0 24 720,0
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht yswnpotn 128 208,2 0,0 0,0 0,0 0,0 0,0 0,0 24 720,0 24 720,0
unPruuLeLGNh aLUUL G4 ounusnk@3ntuuNrh 4084 984,4] 10000,0 10 000,0 0,0 0,0 0,0 0,0] 2006 308,5 2 006 308,5
JauNnuuu ounuenN
wjn pyntd
Uy swluubn 4084 984,4] 10000,0 10 000,0 0,0 0,0 0,0 0,0] 2006 308,5 2 006 308,5
wjn pyntd
W) swrwnipintGbbph dbrppbndwl dwiuubp 4084 984,4] 10000,0 10 000,0 0,0 0,0 0,0 0,0] 2006 308,5 2 006 308,5
LUMhSUL SUuUGN 50 000,0 0,0 0,0] 50 000,0 50 000,0 0,0 0,0 0,0 0,0
wjn pynLd
LuMhSUL uNnrNantuuGNrh culuuGN 50 000,0 0,0 0,0] 50 000,0 50 000,0 0,0 0,0 0,0 0,0
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Unyniuwly 04-08 (pOnwiklp 3 £9)

wyn pYnLd puwn dpwantiph
MEnwywlb wewygnepntl
ﬁ:uﬂimﬁﬂg «UlwnEshwywa
Pwndépwantb L htinpnithwywb dwubwghwnwywb Yppnipintl thnfudwlwsiwb L
Jwulbwghwnwywb Yppnepncl
- w) Wewnwlwb dwpdhbbtn 2006 wndnibnipwb wqguihb
- pYwlwbhg uyuynn
ann pGnnLObNLRIWG Gwuny wnbnGywunywywb yehunpnby»
hhdGwnpwdhb
wyn pYnLd puwn wyn pYntd puwn wjn pYnd puwn
<nnwsh wodwlnidp — Jwuwnwnnnbtph — Jwuwnwnnnbtph — JwuwwpnnlObph
c c c
= S ) = S [=H c
g % = 3 5 23 \3 = g ) 3 g ) 3
c & c =5 =535 > & c c c c
£ c o 33 = = CB,. ez g_5 © Ss & © Ss @
o 3z £E2= | £8z%]| ESES b= 33z b= 33z
g SE | 952 | SS5¢5| S8 3 S5 E = TeE
B 33 3EE | 3258 353 2 Sz3 3 g3
3 SE | §3c|135323| 383 3 SEE 3 SEE
z & 3 =g5 3ese| 352 z 553 z 553
S 33 53=2 3275 3 3°S = T 2 = [SiF=A
d 3 g T S35 © 5 2 d g 3 d Y 3
= =
¥ N Y3 Y
10 11 12 13 14 15 16 17 18
puAUUGBLL DUuUGN 1471832,7| 729500,0| 143213,3| 250141,5| 348977,9| 1306 888,9 1 306 888,9 27 484,2 27 4842
wjn pynLd
QUBUSHhY CUUGN 1471832,7| 729500,0| 143213,3| 250 141,5| 348977,9| 1306 888,9 1 306 888,9 27 484,2 27 4842
wjn pyntd
untrUhNhULEN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 368 305,5( 34500,0] 41184,0 250141,5( 42480,0 341 740,2 341 740,2 27 484,2 27 4842
wjn pyntd
Unpwpenwybtn 368 305,5| 34500,0( 41184,0] 250141,5| 42480,0 315736,2 315736,2 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 0,0 26 004,0 26 004,0 27 484,2 27 484,2
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht yswnpotn 0,0 0,0 0,0 0,0 0,0 26 004,0 26 004,0 27 484,2 27 484,2
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 1103 527,2| 695000,0| 102 029,3 0,0| 306497,9 965 148,7 965 148,7 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uy, Swiuukn 1103 527,2| 695000,0| 102 029,3 0,0| 306497,9 965 148,7 965 148,7 0,0 0,0
wjn pyntd
Uy, Swrewjntpintbbeph dGrppbndwl dwiuukn 1103 527,2| 695000,0| 102 029,3 0,0| 306497,9 965 148,7 965 148,7 0,0 0,0
LUuMhSUL SuueP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
yunhsuL vnrNnantuuNrh cuklbueN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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Jwubwghunwywb
UnpnLpiwl hwiwywngh
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wyn pYnLd puwn
<nnwsh wodwlnidp — Jwuwwpnnlbph
&
2 =
0 Ss &
g =3¢
= EZ5
2 S55
8 N
v 3
19 20
puAUUGBLL DUuUGN 50 000,0 50 000,0
wjn pynLd
QUBUSHhY CUUGN 50 000,0 50 000,0
wjn pyntd
untrUhNhULEN 0,0 0,0
wjn pynLd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 50 000,0 50 000,0
wjn pyntd
Unpwpnwybtn 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 50 000,0 50 000,0
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht yswnpotn 50 000,0 50 000,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0
Jysunruuu oukuuenN
wjn pyntd
Uj| Swfuubn 0,0 0,0
wjn pyntd
W) swrwnipintGbbph dbrppbndwl dwiuubp 0,0 0,0
LUuMhSUL SuueP 0,0 0,0
wjn pynLd
yunhsuL vnrNnantuuNrh cuklbueN 0,0 0,0
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QOnwaklp YwadwytpwnipintGasphl YwquwytnpuwntpintGobphl
GUpwfudph wjn pYntd puwn wyn pYntd pun wyn pYntd puwn
<nnyuwsh whywanudp gntauinp — Jwuwwpnnbtph — Jwuwnwpnnbbph — Ywuwnwnnnltph
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nuatEnny) § 33 § s 3 § =S
5 =E 5 35 & 5 Ecg
= gz o 323z = 53z
3 2t 3 2t 3 e
=} y§3 b=} S g3 =} “3 s 3
3 3 s 3 £s & 3 SEE
s 52 g 52 s 5232
d §3 d Y 3 d =3
Q-l.‘: () V =
1 2 4 5 6 7
puLAUUGLL DUuuGN 5835216,6| 90015,0 90 015,0 217 833,1 217 833,1 1500 624,7 1500 624,7
wjn pyntd
LUuBUSHhY SUUGN 5695 201,6 0,0 0,0 217 833,1 217 833,1 1500 624,7 1500 624,7
wyn pyntd
untpruhNhuutP 85 000,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 85 000,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 48114971 0,0 0,0 217 833,1 217 833,1 1500 624,7 1500 624,7
wyn pyntd
Unpwpenwybtn 40 140,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 47713571 0,0 0,0 217 833,1 217 833,1 1500 624,7 1500 624,7
wyn pyntd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 47713571 0,0 0,0 217 833,1 217 833,1 1500 624,7 1500 624,7
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 798 704,5 0,0 0,0 0,0 0,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 30 240,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy Swfuukn 768 464,5 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 768 464,5 0,0 0,0 0,0 0,0 0,0 0,0
LUuMhSUL SuueP 140 015,0( 90 015,0 90 015,0 0,0 0,0 0,0 0,0
wjn pyntd
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1 2 3 6 7
LUMhSUL LENPANPNFULEN SULUGP 90 015,0| 90 015,0 90 015,0 0,0 0,0 0,0 0,0
wjn pynLd

LUMhSUL chuuPurNH@3UL ouluutP 90 015,0{ 90 015,0 90 015,0 0,0 0,0 0,0 0,0
LuMhSUL LNPNGNFULENh DUUGN 50 000,0 0,0 0,0 0,0 0,0 0,0 0,0
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2nowbwybtpnid wewnwywb wowygnipintl wy; wEunwywb dwpdhtbtph
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gnnénLbbnipwl Gopwywrenigwdépltnh
wwhwwlnid nt qupqugnti» 6pwgnh
2nowlwyitpnid wewnwywl wowygnipintlh ££
Yppnigwl L ghinnipub Gwuwpwnnipwb
dhgngny dpwahpp hpwlwbwgbnn
Ywgiwytnpwnipntbbtphb

wjn pYntd puwn

wjn pYntd puwn

— Ywunwnnnbtph - Jwuwnwnnnbtph
oS oS 3o s o S 3 o S
2 X BEEN- gz | 22 Z| 85 E|=_C% 2 -
© szl =38 =& ce | g% =l s3_&8| 5= © Ss®
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3 35 3cg8% Sc 35| 53255| 3£ 3 SEc
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[SIC S c3 veE 5 Q// S v S S
3 53 5
8 9 10 11 12 13 14 15 16
puLAUUGLL DUuuGN 401 864,7| 78339,5| 171082,2( 101603,6 23999,0 2321,1( 24519,3 259 564,8 259 564,8
wyjn pyntd
LUuBUSHhY SUUGN 401 864,7| 78339,5| 171082,2( 101603,6 23999,0 2321,1( 24519,3 259 564,8 259 564,8
wyn pyntd
untpruhNhuutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 401 864,7| 78339,5| 171082,2( 101603,6 23999,0 2321,1( 24519,3 248 224,8 248 2248
wjn pyntd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 401 864,7| 78339,5| 171082,2( 101603,6 23999,0 2321,1( 24519,3 248 224,8 248 224,8
wjn pyntd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 401 864,7| 78339,5| 171082,2( 101603,6 23999,0 2321,1( 24519,3 248 224,8 248 2248
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0 0,0 11 340,0 11 340,0
Jsuruuu oukuutenN
wjn pyntd
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 11 340,0 11 340,0
Uy Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuMhSUL SuueP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
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8 9 10 11 12 13 14 15 16
LUMhSUL LENPANPNFULEN SULUGP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
LUMhSUL chuuPurNH@3UL ouluutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuMhSUL LNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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2nowlwybbpnid wenwywh 2nowbwybtpnid wenwywb wowygnipntb wy 2npwiwyubpnid WEnwyw
wowlygnipintb << Yppnepjwlb L
wowygnipintt <€ QUU-h wEinwywb dwpuihbbeph PNl GWWPWPALEWG
Ywgiwytpwnipnttbtphb Yugiwytpwnipnttbtphb YwadwyEnwnLpInLGGERRG
wjn pYntd pun wjn pYntd puwnn wjn pYntd puwn
n 6h waywand
<nnywish waquwanuap z Jwuwwpnnltph i Jwuwwpnnltph z Ywuwnwnnnltph
= [ =
g 5 g g 3 s|S33 g -
c - c c © “S- S o c =3 Vé c 3 c
ES) cCE T i) Z 3 =33 & %339 ES) Ss &
o 53z o €= =53z]| E53¢ o 33 =
S =3 S STIZ2E|] £S53 & S @z E
5 = < 5 3 3 o 3L 3= 5 =&
=} ‘5\53 b=} =S 2233 33¢e¢ =} sc3
3 cc 3 3 [S= c3& 3 s
= 23 3 = g 3 35c3| 355 = S53
S 553 S 52 |v235| 58223 S 2§55
(d] v =3 a =5 g ST 3 _3’_% % (d] t// 3
17 18 19 20 21 22 23 24
puLAUUGLL DUuuGN 646 868,6 646 868,6| 230518,6( 85000,0/ 129438,1 16 080,5 102731,3 102 731,3
wjn pyntd
LUuBUSHhY SUUGN 646 868,6 646 868,6| 230518,6( 85000,0/ 129438,1 16 080,5 102 731,3 102 731,3
wjn pyntd
untpruhNhuutP 0,0 0,0/ 85000,0[ 85000,0 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0/ 85000,0| 85000,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 627 968,6 627 968,6| 145518,6 0,0/ 1294381 16 080,5 102 731,3 102 731,3
wjn pyntd
Unpwpnwyltn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 627 968,6 627 968,6| 145518,6 0,0/ 129438,1 16 080,5 102731,3 102 731,3
wjn pyntd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 627 968,6 627 968,6| 145518,6 0,0/ 1294381 16 080,5 102 731,3 102 731,3
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 18 900,0 18 900,0 0,0 0,0 0,0 0,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 18 900,0 18 900,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuMhSUL SuueP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
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LUMhSUL LENPANPNFULEN SULUGP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

LUMhSUL chuuPurNH@3UL ouluutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuMhSUL LNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyn pYntd pun 6pwgntiph
Qhurnwywl L
«Ugquwjht wndtip GEpYuwjwglnn «Ghunwywb Ywnnptph «
ghunwywb opyuinbeph wwwnpwuwnntd» dpwagnh «thwhw[n#wgnbnh qhmw;ﬁb&ﬂhhwlawu
wwhww(nid» dpwagph 2nowbwybbpnud << Yppnepuib L mwla]nwuubmmd »«né]fﬂ] § q[r:n n %L?Jlgd /
2nowlwyibpnid wenwywb ghunigwb Gwfuwpwpnpjwb 2ngwilyltnn - | wwdwGwanuin /ptdwwnhy
thongnd hpwywlwgynn ShGwbuwynpnid» dpwagph
wowlgnipnil << GUU dhengny ppwlwlwgynn WhnwyWo wwwnytn 2nowlwyGEnNLY whtnwlwa
Ywgiwytpwnipnttbtpha wGwnwywb ywwnybn wowlgntpntl
wjn pYntd puwn wjn pYntd puwnn wjn pYntd puwnn wjn pYntd puwn
<nnyuwiéh wijwanudp - Ywuwnwnnnbtph — Jwuwnwnnnbtph — Juwuwnwnnnbtph — Ywuwnwnnnbtph
£ = = =
s PR g 5 g . g a
c c _c c 2 2 c o _ ¢ c e
E°) [SE= 0 Ss & 0 cE® 0 Ss &
o 53z = 33z o 53¢ = 33z
= 5 3 c = % T c = 5 = c = g T c
= S5 3 3 gz3 3 S5 3 3 ggz3
3 3¢ 3 [ =N 3 3¢ 3 [N
£ 223 £ o232 | 222 £ o232
a s a A a a2 a N
¥ 3 Vo3 v* 3 V3
25 26 27 28 29 30 31 32
puLAUUGLL DUuuGN 60 682,3 60 682,3 50 675,5 50 675,5| 49929,0 49 929,0| 1340909,0 1340 909,0
wjn pyntd
LUuBUSHhY SUUGN 60 682,3 60 682,3 50 675,5 50675,5| 49929,0 49 929,0| 1340909,0 1340 909,0
wjn pyntd
untpruhNhuutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 60 682,3 60 682,3 21540,0 21540,0|/ 18600,0 18 600,0| 1340 909,0 1340 909,0
wjn pyntd
Unpwpenwybtn 0,0 0,0 21540,0 21540,0/ 18600,0 18 600,0 0,0 0,0
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 60 682,3 60 682,3 0,0 0,0 0,0 0,0 1340909,0 1340 909,0
wjn pyntd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 60 682,3 60 682,3 0,0 0,0 0,0 0,0 1340909,0 1340 909,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 0,0 0,0 291355 29135,5| 31329,0 31329,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy Swfuukn 0,0 0,0 291355 29135,5| 31329,0 31329,0 0,0 0,0
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0 29 135,5 29135,5| 31329,0 31329,0 0,0 0,0
LUuMhSUL SuueP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
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LUMhSUL LENPANPNFULEN SULUGP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
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LuMhSUL LNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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Lwunnty

wbpbbph

«Qhunwywl L ghinwwnbubhywywb gnpénLbenLpjwb
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puLAUUGLL DUuuGN 708 000,0 708 000,0 30 000,0 30 000,0
wjn pyntd
LUuBUSHhY SUUGN 708 000,0 708 000,0 30 000,0 30 000,0
wjn pyntd
untpruhNhuutP 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 0,0 0,0 30 000,0 30 000,0
wjn pyntd
Unpwpnwyltn 0,0 0,0 0,0 0,0
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 0,0 0,0 30 000,0 30 000,0
wjn pyntd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 0,0 0,0 30 000,0 30 000,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 708 000,0 708 000,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 0,0 0,0 0,0 0,0
Uy Swfuukn 708 000,0 708 000,0 0,0 0,0
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 708 000,0 708 000,0 0,0 0,0
LUuMhSUL SuueP 0,0 0,0 0,0 0,0
wjn pyntd
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LUMhSUL LENPANPNFULEN SULUGP 0,0 0,0 0,0 0,0
wjn pynLd
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LuMhSUL LNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0
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